Review Worksheet

What is a prime number?

1. List the prime numbers from 2 to 50.
2. List 5 composite numbers.

3. Write the prime factorization of the following numbers. Use a factor tree.
a) 22500 b) 23660 = c) 3087

(4 4 2 — 4 %
ﬁ\%-? : 72°%-F\% 3°,F

4. Write the factors of:

a) 64 ‘ b) 70
h24) 9, 168264 I,Z,Y,?“)(O)Wﬁ;%
5. Write the first 10 multiples of:
a) 6,12, 1% ,24\%0,3b; 42,4471 60 b)15,30, 4$/60,35,990,10%
(20,137,170

6. Find the GCF and LCM for:

a) 14, 35 b) 18, 32 c)12,18,15
aF=+ G(F=2 G(F =2
L(M= LM = 28 LM = |80



7. Write all perfect squares up to 400.

Oyt 8,16,2Y,%6 49,64, 8,100,512/

Y, 169,196, 22V, 257,

29
8 Evalzla‘re: _

. 10
vizi= ] V6= | Vi= [ =
Vida= |2 V16900 = |30 V0.0049 = (0 0F vige= [|.3
vieo = |3 VoOi= 0,] == V#4100 = 210
9. Estimate to the nearest tenth.
a)V5 =4, 2 b)v28= 5,5 c)yiao = II.€ d)V380= [q.5
10. Evaluate:

Q) —5-8=—]% b) (=28) « (=7) = 4 &) (—9+5)(-4-3)= 28

d)-10+(-13) =-25

9)4—(-6)= |0

D14+ (=2)= ~F

e)-5(-4)(-1) = ~20
h) =9 +(=2) - (=5) = —b

K)4-31-2=F
a—5(—)
4%
;}—

324,261 , %09

N+

H4E + (2= — 10
)-3-2[4-(-D(-3)]= —S

N-2(1-4)-34-6)= |7
2 (A ~w(-2)

L, +06

|



11. Put into lowest terms.

135 2+ 15| 49 _ 240 2
G)R-— '—z— b)'ﬁ—t C)S—s'—- g d)ﬁ" 5—
12. Change from a mixed fraction into an improper.

2_ 2 3_ 25 1_ I 2_ Sz
0)1'3'— ':—57 b)4-g— 5 C)5‘£— = d)lo;—- -5__
13. Change from improper fraction into a mixed fraction.

19 _ 23 _, % g _ . G 39, L
e b)2 =42 SERTE- D= 212
14. Evaluate. Put your answer in simplified form.

T o 1 3 1,5 1_ _ﬂ_
Cl)é"l';—-‘é' b)'2—+ 3= Z C)g-l' Ao Zq‘

43

d)3— 3= % e)12+35=F fys+3;-1:= z
1 1_ ) 1 14 b _ g_‘l)_ N7 1 _ 3\
g)5+5—§— E’ h)3g+ 1;— 4'\2‘- l?' l)l_Z—Ez -E—o

5 1 o) 1 {1 6 |
)5'5256. s-1i= = 1);+1=%__



15. Evaluate. Put your answer in simplified form.

L | 1‘ 3 /2’ 2‘]

A= xE- 2 b)3x == 2. ittt o _
’lf/x}?; > oy ’5 " 10 :6:_ q&& ’
Dixgs T R R A L N e T
g)é’;i"’zi’: 2 h)3'x7= L= CD13sixz=13.2.2 -85

Y 7;’9; 9 B z ) | L Bz
1.4«'_16«3_2,_ K)3+ 1o N3slio2- 2}} o
DGx 5= 77'|/ )3+3= 5 )3+3+3= 22 5 =19
|
o, Po) 2 4
2, ,_ & =4 s g X
m) g—-'z— f Z r n)l—sz—j,x}—j/~ 3£
i = % '
16. Simplify.
Q)2-3(1-3)= b) (2+3)-3(4+3) =
:2~'~\ <l~-l_ | 5 _6_ ) i
2Z\3 = 2 2
1
- |2 5 &
=y L= = 7
2-1-% >




17. Solve the factoring equations.

ax+1=5 b)_2_3£f_:10
= |'l:—'3—!

d)x—3=-2 e) —3x = —12
=\ = = R =Y
g)x+7=-9 h)—4_xf15
B:‘\Q NA—= —L\:
_— B q
Dx—11=-13 k) x— -6

18. Sclve the following equations.

a)2x—-1=3 b) X — 1 3

— 1

=2 | (2 Ereq o)

[*=¢)

d)-Sy+4=-5

) =3y~

=27 il

c)3y+1=5
il

)
=3

f"‘ £

-

fy-3=2-a

=T

(FEV) 5 = 77 A

0\



19. Solve the following equations.

a)2(x—1)=5 b)2(1 —2x) = —4 c)-3(x—1) =3
2x-2=09 2 Yy = 4 —2xtH=3
2,_1 . Y = - _— *—73>¢ =
Gk G ) s Py
S DTW=3-A-n 9s=-0-m  DIG-ey=4
H\O’ — X ) :’j[ + X A— 4 x= ¢
Aty L’x = 67 —Ax =C
’)‘L—,f_-\_li\b e EQ

20. Find the missing side.

f‘R D

‘

= A= Vélé R 248 o~

21. Find the area and the perimeter.

a) L=12 cm W=8 cm Poj2.24¢8 2 b) L=15 cm

P=%8cr vy

A s \

c) base=16 cm side=10 cm éé} - ZL\Y\C(M_:/
hﬂM -6 (uk E’M%QRMW/

P=lotlotle =>6¢m

[—
1




d)P=28 cm L=6cm k= ? e) A=225 cm? P = ?

b 2812 =1k

L6 =8 L GBS
t L=1§
R Ry oy
Poir Y

f) Didmeter= 16 cm C = ZTR

sz é:
zAv:_ TR

[A= ke |

22. When a number is added to twice itself, the result is 45. What is the number?

Let x be Ha awwb~ =T Thu nuudo T3 15
X+ 2x= 45 N=()
23. Eight times a number increased by 10 is -23. Find the number.
& +10= —2% M= — %_82
Ln— -33%
24. When a number is divided by seven and then decreased by 12, the result is 3 more than
the square root of 81, Find the number. x \ -
= —\2 = |
X 1222+ el Eal
:i( = =12¢
L 2= > I —
—+ | %= 168 )
25. Mental math: T
10% of 250= 2§ 05x12= ( 23x100= 230 0x12= 4
50+-01= SO0 120+100=1.2  0.2x0.02=0,004 45+-01= &50O
5% of 120= ¢ 30% of 400=12 0 05x05= 0,25 20x03= 4



26. ) What is 45% of 80? b) What is 303% of 400?

‘ 6>
== "+,D'f" =
56 /L,DE“’E 126
27. 30 is what percent of 130? b) 12 is what percent of 96?
259 _ | 12.5%
28. 80% of what number is 24? b) 65% of what number is 125?
20 6§ _ 1y % ~ 28DO
29. Complete the table: 02 o ) /5
_r —wm - "}"(j_ lq7, 2)'
Fraction Decimal : Percent
4
3 0.8 30 t"/o
] 0125 |
3 12, 5%
LAY Yy F - 135%
100 = 10050 ' 20 .28
_% 2.25 o ZTO/
2 = 2_
1% .6 166.8 /5 =163 %

30. A survey showed that % 7% of 800 students use inline skates o get to school. 8¢ of the

rest walk to school. The remaining students take the bus. How many studentstake the bus

to school?
Lo/ =~ 0.25% 900 ~2-=3q8

4 7° g &= 1o welle
0.002S v OO = 2 skake E@ ) el Has Bus

31. A sweater costs $80. It is marked down 20%. Tax is 12%.

a) find the amount of discount ‘I“ 6,00 -

b) find the selling pr‘iceﬁ' 64.00

c) find the amount of tax ./%0- 4= . éC?

d) find the final amount of many you have to pay for the sweater. @ 3'/ 6Cf

e) find the answer to question d in one or two steps.

FOx 040% 11 =270 4



